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=EE 102485121511077 7—%%15 80 85 45 210 288 498
RIS 103165210100281 | K& | 80 90 40 210 314 524
RIS 859015210500159 | F—T | 80 80 40 200 311 511
RIS 102475321104914 | E£¥ | 80 80 40 200 302 502
RIS 103165210100801 | #X=<@H | 80 80 40 200 288 488
RIS 144305179000006 | FjEZ | 80 75 40 195 281 476
RIS 144305121000042 | 3K3735 | 80 80 40 200 275 475
M ZESDFEYSE 101835217704733 BRIRR 80 80 40 200 343 543
M EESD TN 144305085000019 | 1% | 80 75 45 200 337 537
EMNES S FEYSF 101835218804987 | FiFE%E | 80 80 40 200 335 535
M ZESDFEYSE 144305123000054 B2 80 90 40 210 307 517
M ZESDFEYSE 101835213404470 EN 80 80 40 200 308 508
M ZESDFEYSE 100565013211954 KER 80 80 40 200 306 506
S EEDFEYS 101835213404477 | FfEfH | 80 80 40 200 300 500
M ZESDFEYSE 100075000000791 LS 80 80 45 205 285 490
EMNESHTFEYNZF 144305110000094 HE 80 80 40 200 275 475
et 103355000906013 SKEUB | 80 80 45 205 297 502




